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M-30 t=120mm
m2
ErERE 36.048 36.048 36
M-30 t=170mm
m2
L FEERAE HERD) 368.364 467 373.034 373
RC-30 t=100mm
m2
E7 4
1117151 1.117|
m2
680613/ 375.090 36,048 11.50 11,50 240 1117.151 1117

xIE
BAEZHET7AIV(13) t=30mm

m2




5-2R&4% HIVP 150 T+ TEHET HEHES P.1
+T BT WET
EE | F19 | TH | BR | 0 |EE|EYS| 2RE | £0E -— #BEL . 1. 2REHEIS 3RE25 4REIS
i)
Y | IRHIR | wsin | wEn) zmEeEl  GRAL) mrms | JBHIE | AR | FBEGE| TAT | TAS | TAR | TAS | o | s a0 | MEEIE| MR | MEEIE| MEGR | WEEIE| ovs-E| MEWIR| MEEIE | MEWR| WEEE | HEE IR HEEIE
WEE | wE2E _ 1.5miBZ | 20miB% | 25miBZ | H=2.0m | H=2.5m | H=3.0m | H=35m| As As |MHT| FAs |H#BHE| RC-30 | FAs |[RC-30 | FAs |HBBE| RC-30 | HAs |HFHA| RC-30
TBEL|LBHY AR | B | EEERD | BhEERY
L d H t H1 w 20mAT[25mBlT|30muF| 1B | 28 | 2B | 2% |eisemutT|wmioomuw t=3om | t=12cm | t=10cm| t=3cm | t=10cm | t=5cm | t=3cm | t=12cm| t=30cm| t=3cm | t=17cm | t=30cm
m | @ [ | @ [ @ | @ | m | @ [ m | @3 | m3) [ m2 | m3) | md | md [ M | m [ m | m | m | m | m [ m | m [ m | [ | )| ()| )| @) | )| @)| )| @) | ()| (n) (n)
1 As
1 586.33| 103 | 1.295 0600 1.245| 0.680| 0.365(437.989 351.798| 70.360|168.863| 35.180| 80.689|172.451 1172.660| 351.798| 17.590| 351.798| 351.798 | 351.798
0.050| 0.250
1 As
2 476 167 1.935 0.900 1.885 1.320( 0.365 8.075 0.857| 4.798( 0428 1.033 1.798 476 476 9520 4.284| 0.214| 4.284| 4284 4284
0.050| 0.250
4 As
2 5.76| 1.67 1.935 0.900 1.835 1.070( 0.365 9513 1.037| 4510 0518 1.251 3.356 5.76 5.76 11.520| 5.184| 0518 5.184 5.184 5.184
0.100| 0.500
4 As
3 6.73| 1.79 2.055 0.900 1.955 1.190 0.365 11.841 1211 5.996| 0.606 1.461 3.841 6.73 6.73 13.460| 6.057| 0.606 6.057 6.057 6.057
0.100| 0.500
1 As
3 9.22| 179 | 2055 0900 2005| 1440 0365 16.637 1.660| 10290 0830 2.002| 3373 9.22 922 18440 8298| 0415\ 8298 8298| 8298
0050| 0.250
1 As
4 097| 185 | 2115 0900 2065| 1500/ 0365 1.803 0.175| 1135 0087| 0211 0349 097 097 1.940) 0873| 0044| 0873| 0873 0873
0050| 0.250
1 As
5 1008 152 | 1.785 0900 1.735| 1.170| 0365 15.740 1.814| 8800 0907| 2.189| 3958 10.08 1008 20.160| 9072 0454| 9.072| 9072 9072
0050| 0.250
1 As
6 56.12| 1.31 1575 ———1——— 0900| 1525 0960| 0.365 77.025 10.102| 38.386| 5.051| 12.185| 23.203| 56.12 56.12 112.240| 50.508| 2.525| 50.508| 50.508| 50.508
0050| 0.250
1 As
7 5241| 135 | 1615 0900 1.565| 1.000| 0.365 73819 9434| 37.735| 4717| 11.379| 21.461| 5241 52.41 104.820| 47.169| 2.358| 47.169| 47.169| 47.169
0050| 0.250
1 As
8 686 186 | 2125 0900 2075| 1510| 0365 12811 1.235) 8088 0617| 1.489| 2462 6.86 6.86 13720 6.174| 0309 6.174| 6.174| 6.174
0050| 0.250
1 As
9 1232 137 | 1635 0900 1.585| 1020 0365 17574 2218 9.002| 1.109| 2675 5020 12.32 1232 24640 11.088| 0.554| 11.088| 11.088| 11.088
0050| 0.250
1 As
10 515 212 | 2385 0900 2.335| 1.770| 0365 10823 0927 7277 0464 1118 1.717 515 515 10300 4.635| 0.232| 4635 4635 4.635
0050| 0.250
1 As
il 203| 138 | 1645 0900 1.595| 1030 0365 2914 0365 1516 0.183| 0441 0826 203 203 4060 1.827| 0091 1827 1.827| 1.827
0050| 0.250
4 As
12 1088 1.07 | 1335 0600 1.235| 0470| 0365 8062 6528 1.306| 1.763| 0653| 1.497| 4655 21.760| 6528| 0653 6528 6528 6528
0100 0.500
e 769.62 446,051 258.575) 358.326| 102.701 | 308.249| 51.350( 119.620| 248.470| 14348| 28.93 13296 3430| 515 1539.240| 513.495| 26.563| 495.726 | 495.726 | 495.726 17.769| 17.769  17.769
&t 769.62 446,051 258.575) 358.326| 102.701 [ 308.249| 51.350( 119.620|248.470| 14348| 28.93 13296 3430| 515 1539.240| 513.495| 26.563| 495.726 | 495.726 | 495.726 17.769| 17.769  17.769




5-178#4% HIVP 150 T+ TEHET HEHES P.1
+T BT WET
EE | F19 | TH | BR | 0 |EE|EYS| 2RE | £0E -— #BEL . 1. 2REHEIS 3RE25 4REIS
i)
Y | IRHIR | wsin | wEn) zmEeEl  GRAL) mrms | JBHIE | AR | FBEGE| TAT | TAS | TAR | TAS | o | s a0 | MEEIE| MR | MEEIE| MEGR | WEEIE| ovs-E| MEWIR| MEEIE | MEWR| WEEE | HEE IR HEEIE
WEE | wE2E _ 1.5miBZ | 20miB% | 25miBZ | H=2.0m | H=2.5m | H=3.0m | H=35m| As As |MHT| FAs |H#BHE| RC-30 | FAs |[RC-30 | FAs |HBBE| RC-30 | HAs |HFHA| RC-30
TBEL|LBHY AR | B | EEERD | BhEERY
L d H t H1 w 20mAT[25mBlT|30muF| 1B | 28 | 2B | 2% |eisemutT|wmioomuw t=3om | t=12cm | t=10cm| t=3cm | t=10cm | t=5cm | t=3cm | t=12cm| t=30cm| t=3cm | t=17cm | t=30cm
m | @ [ | @ [ @ | @ | m | @ [ m | @3 | m3) [ m2 | m3) | md | md [ M | m [ m | m | m | m | m [ m | m [ m | [ | )| ()| )| @) | )| @)| )| @) | ()| (n) (n)
2 A
1 840 132 1.585 © 0.900 1.555 1.040( 0.365 11.756 1512 6.350( 0.756 1.824( 3.029 8.40 840 16.800 7.560( 0.227 7.560 7.560( 7.560
0.030| 0.180
4 As
2 7.98| 1.00 1.265 0.600 1.165| 0400 0365 5578 4.788| 0.958| 0.958( 0479 1.098 3.451 15.960| 4.788| 0.479 4.788 4.788 4.788
0.100| 0.500
2 As
3 58448 103 | 1.295 0600| 1.265| 0750 0.365|443.620 350688| 70.138192.878| 35.069| 80.435|151.672 1168.960| 350.688| 10.521 350,688 | 350.688| 350.688
0.030| 0.180
4 As
4 377 134 | 1605 0900| 1505 0740 0.365 5.106 0679 1832 0339 0819 2319 377 377 7540 3.393| 0.339 3393| 3393 3393
0.100| 0.500
2 As
5 1124 144 | 1705 0900 1.675| 1.160| 0.365 16.944 2023 9711 1012| 2440| 3919 11.24 1124 22.480| 10.116| 0.303 10.116( 10.116| 10.116
0030 0.180
4 As
6 1.22| 151 1.775 0900 1.675| 0910 0365 16914 2020 7.170| 1010 2436| 6.713| 11.22 1122 22.440| 10098| 1.010 10098 10.098| 10098
0100 0.500
1 As
7 10041 116 | 1425 0600 1.375 0810 0365| 82838 60.246| 12.049| 36.750| 6.025| 13.818| 28671 200820| 60.246| 3.012| 60.246| 60.246 60.246
0050| 0.250
1 As
8 469| 189 | 2155/ ————1—— 1 0900 2105/ 1540 0365 8885 0844| 5656 0422| 1018 1670 469 469 9380| 4.221| 0211 4221| 4221 4221
0050| 0.250
1 As
9 20070| 1.02 | 1.285 0600 1.235 0670 0.365(148.719 120420 24.084| 56.597| 12.042| 27.620| 59.163 401.400(120.420|  6.021(120.420| 120.420 | 120.420
0050| 0.250
e 932.89 680.755| 59.605536.142| 114.307(317.902| 57.154| 131.508|260.607| 34.63|  4.69 3463 469 1865.780| 571.530| 22.123| 184.887 184,887 | 184.887| 368.364| 368.364  368.364 18279 18279 18279
&t 932.89 680.755| 59.605536.142| 114.307(317.902| 57.154| 131.508|260.607| 34.63|  4.69 3463 469 1865.780| 571.530| 22.123| 184.887 184,887 | 184.887| 368.364| 368.364  368.364 18279 18279 18279




+ T % & G B

=

=

(HIVP ¢ 150)
(5-2%#%)




FHLIMYEER (1)
ERE . HIVP @150 SEAER . TEHEES T8I : £BGL
AR AR ER WY T#®Y THY  |x®Y ()
(R (£ (Fik) (EFR) (1) X fER
No. BP BP. +12.35 12.35 1.02 1.02 1.02 12.60
BP. +49.70 No. 1+19.18 69. 48 1.00 1.00 1.00 69. 48
IP. 6+0.75 IP. 8+1.27 35.18 1.15 1.02 1.09 38.35
IP. 12-0.92 IP. 13 91.72 0.44 1.46 0.95 87.13
IP. 14 No. 3+62.07 8.57 1.17 1.00 1.09 9.34
No. 3+62.07 IP. 15 17. 1 1.00 1.34 1.17 20.72
No. 4+32.19 No. 4+48.07 15. 88 1.25 1.14 1.20 19. 06
No. 4+67.25 IP. 20 64.82 1.21 1.00 1.1 71.95
IP. 20 No. 6+34.76 102. 69 1.00 1.04 1.02 104. 74
No. 6+39. 91 No. 8 160. 09 1.00 1.00 1.00 160. 09
No. 8 IP. 22 7.84 1.00 1.26 1.13 8.86
& 586. 33 602. 32
E Kk F = 586. 33 m
EyEHY = 602. 32 / 586. 33 = 1.03 m
SEETER - BP+12. 35~+17. 11 Fﬁ:ﬁ(E:E)
FHIWYRER (2) BP+17.11~+22.87 I8iH (Hi#)
HERE - HIVP@ 150 T8I : H=2.0m (1E%)
AR AR ER WY T#HY THY  |x®Y ()
(FiR) (£ (FiR) (EFR) (1) X fER
BP. +12.35 BP. +14.16 1.81 1.02 1.78 1.40 2.53
BP. +14.16 BP. +21.24 7.08 1.78 1.79 1.79 12.67
BP. +21.24 BP. 22.87 1.63 1.79 1.10 1.45 2.36
&t 10. 52 17.56
E K F 10. 52 m
EyEHY = 17.56 / 10. 52 = 1. 67 m




spssrgr . P33 75~+40.48 238 (EE)
FHEHYEER (3) BP+40. 48~+49. 70 T3 (F3&)
188 - HIVP ¢ 150 T8I H=2.5m (2B%)
AlA BlA EE t#HY THY t#HY  |tmy (Ew)
(Fi) (E#) (Fi) (£ (F19) X ER
BP. +33.75 BP. +35.70 1.95 1.03 1.81 1.42 2.77
BP. +35.70 BP. +40.48 4.78 1.81 1.81 1.81 8.65
BP. +40.48 BP. +44.96 4.48 1.81 1.68 1.75 7.84
BP. +44.96 BP. +46.08 1.12 1.68 2.13 1.91 2.14
BP. +46.08 BP. +48.58 2. 50 2.13 2.12 2.13 5.33
BP. +48.58 BP. +49.70 1.12 2.12 1.00 1.56 1.75
15. 95 28.48
E OE 3 15.95 m
FHETHY = 28.48 / 15. 95 1.79 m
EHTHYEER (4)
1855 . HIVP$ 150 SEEIER - TEEEE ITBI: H=2.5m (2K)
AlA AlA EE t#HY THY t#HY  |tmy (Ew)
(Fi) (Ei#) (Fi) (£ (F19) X ER
No. 1+19.18 No. 1+20.15 0.97 1.00 2.70 1.85 1.79
0.97 1.79
E E 3 0.97 m
FHETHY = 1.79 / 0.97 = 1.85 m




EHTHYEER (5)
1BEges . HIVP ¢ 150 SRR TEEEE T8I H=2.0m (1B)
AR AlA EE t#®Y THY t#HY  |tmy (Ew)
(Fi) (Ei#) (Fi) (£ (F19) X ER
IP. 13 No. 2+91.96 4.66 1. 46 1.45 1. 46 6. 80
No. 2+91.96 No. 2+93.47 1.51 1.45 1.73 1.59 2. 40
No. 2+93.47 No. 2+95.47 2.00 1.73 1.74 1.74 3.48
No. 2+95.47 No. 2+97.38 1.91 1.74 1.05 1.40 2.67
B 10. 08 15. 35
E E 3 10.08 m
FHETHY = 15. 35 / 10. 08 = 1.52 m
EHTHYEER (6)
1855 . HIVP$ 150 SEEIER - TEEEE TBI: H=2.0m (1B)
AlA AR EE t#HY THY t#HY  |tmy (Ew)
(Fi) (Ei#) (Fi) (£ (F19) X ER
No. 2+97.38 No. 3 2.62 1.05 1.26 1.16 3.04
No. 3 No. 3+23.77 23.77 1.26 1. 41 1.34 31.85
No. 3+23.77 1P. 14 29.73 1. 41 1.17 1.29 38.35
| 56.12 73.24
E E 3 56. 12 m
FHETHY = 73. 24 / 56. 12 = 1. 31 m




EHTHYEER (7)
1BEges . HIVP ¢ 150 SRR TEEEE T8I H=2.0m (1B)
AlA BlA EE t#®Y THY t#HY  |tmy (Ew)
(Fif) (Ei#) (Fi) (£ (F19) X ER
IP. 15 No. 3+82.18 2. 40 1.34 1.37 1.36 3.26
No. 3+82.18 No. 4 17.82 1.37 1.39 1.38 24.59
No. 4 IP. 16 3.83 1.39 1.37 1.38 5.29
IP. 16 No. 4+7.58 3.75 1.37 1.37 1.37 5.14
No. 4+7.58 No. 4+32.19 24. 61 1.37 1.25 1.31 32.24
52. 41 70. 52
E E 3 52. 41 m
FHETHY = 70. 52 / 52. 41 1.35 m
EHTHYEER (8)
1855 . HIVP$ 150 SEEIER - TEEEE ITBI: H=2.5m (2K)
AlA AR EE t#HY THY t#HY  |tmy (Ew)
(Fif) (Ei#) (Fi) (£ (F19) X ER
No. 4+48.07 No. 4+49.21 1.14 1.14 2.28 1.71 1.95
No. 4+49.21 No. 4+51.21 2.00 2.28 2.26 2.21 4.54
No. 4+51.21 No. 4+53.08 1.87 2.26 1. 49 1.88 3.52
No. 4+53.08 IP. 18 1.85 1.49 1.47 1.48 2.74
6. 86 12.75
E E 3 6.86 m
FHETHY = 12.75 / 6. 86 = 1.86 m




EHTHYEER (9)
1BEges . HIVP ¢ 150 SERER . TEEE T8I H=2.0m (1B)
AlA BlA EE t#®Y THY t#HY  |tmy (Ew)
(Fif) (Ei#) (Fi) (£ (F19) X ER
1P. 18 IP. 19 2.12 1.47 1.48 1.48 3.14
IP. 19 No. 4+67.25 10. 20 1.48 1.21 1.35 13.77
12.32 16. 91
E E 3 12.32 m
FHETHY = 16. 91 / 12.32 1.37 m
EHTHYEER (10)
1855 . HIVP$ 150 SLEIER - TEEEE TBI: H=2.5m (2)
AlA AR EE t#®Y THY t#HY  |tmy (Ew)
(Fif) (Ei#) (Fi) (£ (F19) X ER
No. 6+34.76 No. 6+36.31 1.55 1.04 2. 60 1.82 2.82
No. 6+36.31 No. 6+38.31 2.00 2. 60 2. 60 2. 60 5. 20
No. 6+38.31 No. 6+39.91 1.60 2. 60 1.00 1.80 2.88
5.15 10. 90
E E 3 5.15 m
FHETHY = 10. 90 / 5.15 = 2.12 m




FHLIMYEER (11)
HEE : HIVPH 150 FHEER . MEEES T8I : H=2.0m (1E%)
e e ER Y THY WY THY (FH)
(Fi) (L) (Fii) ) (F1) XER
IP. 22 IP. 22+2.08 2.03 1.26 1.49 1.38 2.80
2.03 2.80
E K F 2.03 m
EHLEHEY = 2.80 / 2.03 1.38 m
FHLIMYEER (12)
HEE : HIVPH 150 SEER . REHES IBI: T8BAL
e AR ERK WY THY T8y THY (FH)
(Fi) (L) (Fii) ) (F1) XER
BP. +22.87 BP. +33.75 10. 88 1.10 1.03 1.07 11.64
5| 10.88 11. 64
E K F 10. 88 m
EyEHY = 11. 64 / 10. 88 = 1.07 m




A% HIVP ¢ 150  ( T8 HLE ) H= 1.03 m
8o BEARL L= 586.33 m
(FEEEB: 18 TFE10cm)
fREIB | X EJE t=5cm
I
W BEFHET X203 i EE - EEBHETFT X2 (13) %E
| 40051 F J:E% tZIOCm
= N\ l 2 T A t=10cm
R IR e |
. BHE ¢ 165mm
NL TEURES 1.295 m
| H 1 0.600 m
HHANE W
I BT AR 0.100 m
B AL 0.100 m
1m¥ Y H&E
4 B JEARSTIE Fi A = Fi
A2 DIk T As  t=5cm 1.00 X 2 = 2.00 m
AL E I T As t=5cm 0.60 X 1. 00 = 0. 60 m2
AR T Hi L 0.60 X 1.245 X 1.00 = 0.75 m3
Fetkags Tak = 0.75 m3
FemEmEIE 0.60 X 1. 00 = 0.60 m2
MR T W ( 0.60 X 0.365 -(x/4X 0.165 "2)) X 1.00 = 0.20 m3
H R T N 0.60 X 0.680 X 1. 00 = 0.41 m3
M-30
b JE A T t=12cm 0.60 X 1. 00 = 0.60 m2
RC-30
TE AT t=10cm 0.60 X 1.00 = 0. 60 m2
Ly T + w 0.75 - 0.41 x .11 = 0.29 m3
Ay TEE = 0.29 m3
As
By T t=bcm 0.60 X 0.05 X 1. 00 = 0.03 m3
FAERRL(13)
A8 1A T As t=3cm 0.60 X 1. 00 = 0. 60 m2
2 B il T —
XL —




A HIVP$ 150  ( 178 BE ) H= 1.67 m
+ ¥ . H=2.0m (1B%) L= 4.76 m
(EEEER:- 18 TRE10cm)
=®|B | FEIE == t=bcm
|
HF BEFHET X2 13) i i!ﬁiﬁﬁi&ﬂfﬁ?x:ytm %E
| / 40051 E J:E Et% tZIOCm
2 ‘ s T e B t=10cm
8 Timinnt s s e g
s TIRinMEY 7Y v — =~ [RC-30)
ags O ¢ 165mm
'L EEIRES 1.935 m
\/I =1
‘“h w Pt 0.900 m
I BT A 0.100 m
B R 0.100 m
1m0 f g
4 PR B E i L = i
EEEY) W T As  t=5cm .00 X 2 = 2.00 m
ARLEEVEE T As  t=bem 0.90 X 1.00 = 0.90 m2
KRR T Hipl 0.90 X 1.885 X 1.00 = 1. 70 m3
Fets i) L5 = 1.70 m3
HORE T b ( 0.90 X 0.365 -(x/4X 0.165 "2)) X 1.00 = 0.31 m3
R T N 0.90 X 1.320 X 1.00 = 1.19 m3
M-30
BT t=12cm 0.90 X 1. 00 = 0.90 m2
RC-30
TE AT t=10cm 0.90 X 1.00 = 0.90 m2
Ly T + w 1.70 - 1.19  x .11 = 0. 38 m3
LWy TE = 0.38 m3
As
By T t=bcm 0.90 X 0.05 X 1. 00 = 0. 05 m3
PR (13)
A8 1A T As  t=3cm 0.90 X 1.00 = 0.90 m2
R Rl R A L H=2. 00m = 1.00 m
KR 1E% = 1.00 m




PN HIVP ¢ 150  ( IR HE ) H= 1.67 m
+ ¥ . H=2.0m (1B%) L= 5.76 m
R1#E I8 | AiEIH
! =z t=5cm
£E BETHET R2 > (13) ‘ £E BAETHET R 2> (20) HE t=5em
| B FAMEMET X2 (20)
‘ FEEE t=10cm
2 A W S -~ B, TlEEsE  t=30cm
2 R e PTRRE 00
TREBSE |
= BES 5T (O30 8 1 AR & 165mm
T
aii EElRES 1.935 m
i PR 0.900 m
L HFHRE 0.100 m
B R 0.100 m
1m0 f g
4 i JEIRSTE g L = i
EEEY) W T As  t=10cm 1.00 X 2 = 2.00 m
AL g T As  t=10cm 0.90 X 1.00 = 0.90 m2
HEARAH HI T HhL 0.90 X 1.835 X 1.00 - 1. 65 m3
Bt TEt = 1. 65 m3
H R T b ( 0.90 X 0.365 -(x/4X 0.165 "2)) X 1.00 = 0.31 m3
R T WAz 0.90 X 1.070 X 1. 00 = 0.96 m3
M-30
BT t=17cm 0.90 X 1. 00 = 0.90 m2
RC-30
TE AT t=30cm 0.90 X 1.00 = 0.90 m2
Ly T + w 1.65 - 0.96 X .11 = 0. 58 m3
Ay 1E = 0. 58 m3
As
FRBAAL Y T t=10cm 0.90 X 0.10 X 1. 00 = 0. 09 m3
AR (13)
RIEIR T As  t=3cm 0.90 X 1.00 = 0.90 m2
R Rl R A L H=2. 00m = 1.00 m
KR 1E% = 1.00 m




PN HIVP ¢ 150  ( IR HE ) H= 1.79 nm
+ ¥ . H=2.5m (2B%) L= 6.73 m
R1#E I8 | AiEIH
! =z t=5cm
£E BETHET R2 > (13) ‘ £E BAETHET R 2> (20) HE t=5em
| B FAMEMET X2 (20)
‘ FEEE t=10cm
2 A W S -~ B, TlEEsE  t=30cm
2 R e PTRRE 00
TREBSE |
= BES 5T (O30 8 1 AR & 165mm
T
aii EElRES 2.055 m
i PR 0.900 m
L HFHRE 0.100 m
B R 0.100 m
1m0 f g
4 i JEIRSTE g L = i
EEEY) W T As  t=10cm 1.00 X 2 = 2.00 m
AL g T As  t=10cm 0.90 X 1.00 = 0.90 m2
HEARAH HI T HhL 0.90 X 1.955 X 1.00 - 1. 76 m3
Bt TEt = 1.76 m3
H R T b ( 0.90 X 0.365 -(x/4X 0.165 "2)) X 1.00 = 0.31 m3
R T WAz 0.90 X 1.190 X 1. 00 = 1.07 m3
M-30
BT t=17cm 0.90 X 1. 00 = 0.90 m2
RC-30
TE AT t=30cm 0.90 X 1.00 = 0.90 m2
Ly T + w 1.76 - .07 x .11 = 0.57 m3
Ay 1E = 0.57 m3
As
FRBAAL Y T t=10cm 0.90 X 0.10 X 1. 00 = 0. 09 m3
AR (13)
RIEIR T As  t=3cm 0.90 X 1.00 = 0.90 m2
R Rl R A L H=2. 50m = 1.00 m
KR 2B = 1.00 m




A HIVP$ 150  ( 178 BE ) H= 1.79 m
+ ¥ . H=2.5m (2B%) L= 9.22 m
(EEEER:- 18 TRE10cm)
=®|B | FEIE == t=bcm
|
HF BEFHET X2 13) i i!ﬁiﬁﬁi&ﬂfﬁ?x:ytm %E
| / 40051 E J:E Et% tZIOCm
2 ‘ s T e B t=10cm
8 Timinnt s s e g
s TIRinMEY 7Y v — =~ [RC-30)
ags O ¢ 165mm
'L EEIRES 2.055 m
\/I =1
‘“h w Pt 0.900 m
I BT A 0.100 m
B R 0.100 m
1m0 f g
4 PR B E i L = i
EEEY) W T As  t=5cm .00 X 2 = 2.00 m
ARLEEVEE T As  t=bem 0.90 X 1.00 = 0.90 m2
KRR T Hipl 0.90 X 2.005 X 1.00 = 1. 80 m3
Fets i) L5 = 1. 80 m3
HORE T b ( 0.90 X 0.365 -(x/4X 0.165 "2)) X 1.00 = 0.31 m3
R T N 0.90 X 1.440 X 1.00 = 1.30 m3
M-30
BT t=12cm 0.90 X 1. 00 = 0.90 m2
RC-30
TE AT t=10cm 0.90 X 1.00 = 0.90 m2
Ly T + w 1.80 - 1.30  x .11 = 0. 36 m3
LWy TE = 0. 36 m3
As
By T t=bcm 0.90 X 0.05 X 1. 00 = 0. 05 m3
PR (13)
A8 1A T As  t=3cm 0.90 X 1.00 = 0.90 m2
R Rl R A L H=2. 50m = 1.00 m
KR 2B% = 1.00 m




A% HIVP$ 150  ( 178 BE ) H= 1.85 m
+ ¥ . H=2.5m (2B%) L= 0.97 m
(BEEEB:1E T/E10cm)
’{E@IE | FiEd FE t=5cm
RE BEBRE (13) : EE BEEHE %E
W SE7 A2 HAEBRRE7T R (13)
| PEE e A t=10cm
[ 4005LE
| 2 T e B t=10cm
8 —r 4 $|
] R L R (30 =
g Tﬁ%??wvv—v; RC-30) 2 %571‘?% (/{) 165mm
mfx BRI 2.115 m
"L 1) 0.900 m
poran b
— SRS 0.100 m
! B R 0.100 m
1m0 f g
4 PR JEIRSTE i L = i
SRR T As  t=bcm .00 X 2 = 2.00 m
AL E I T As t=5cm 0.90 X 1. 00 = 0.90 m2
HEARAH HI T HhL 0.90 X 2.065 X 1.00 - 1. 86 m3
FEAR AR A L5t = 1. 86 m3
R T wh ( 0.90 X 0.365 —(x/4X 0.165 "2)) X 1.00 = 0.31 m3
H R T N 0.90 X 1.500 X 1. 00 = 1. 35 m3
M-30
b JE A T t=12cm 0.90 X 1. 00 = 0.90 m2
RC-30
TE AT t=10cm 0.90 X 1.00 = 0. 90 m2
Ly T + w 1.86 - 1.35 % .11 = 0. 36 m3
Ay 1E = 0. 36 m3
As
By T t=bcm 0.90 X 0.05 X 1. 00 = 0. 05 m3
AR (13)
1€ 1B T. As t=3cm 0.90 X 1. 00 = 0.90 m2
2SN N H=2. 50m = 1.00 m
KR 2B% = 1.00 m




A HIVP$ 150  ( 178 BE ) H= 1.52 m
+ ¥ . H=2.0m (1B%) L= 10.08 m
(BEEEB:1E T/E10cm)
’{E@IE | FiEd FE t=5cm
RE BEBRE (13) : EE BEEHE g}%
W SE7 A2 HAEBRRE7T R (13)
| PEE e A t=10cm
! 40051
| 2 T e B t=10cm
= —r 4 $|
] R L R (30 =
g m?T‘JV‘\'—7J RC-30) 2 %571‘?% (/{) 165mm
mfx BRI 1.785 m
"L 1R IR 0.900 m
poran b
— SRS 0.100 m
l B R 0.100 m
1m0 f g
4 i JEIRSTE g B = i
SRR T As  t=bem .00 X 2 = 2.00 m
AL E I T As t=5cm 0.90 X 1. 00 = 0.90 m2
HEARAH HI T HhL 0.90 X 1.735 X 1.00 - 1.56 m3
FEAR AR A L5t = 1. 56 m3
R T Wb (0.90 X 0.365 -(x/4X 0.165 "2)) X 1.00 = 0.31 m3
H R T N 0.90 X 1.170 X 1. 00 = 1. 05 m3
M-30
b JE A T t=12cm 0.90 X 1. 00 = 0.90 m2
RC-30
TE AT t=10cm 0.90 X 1.00 = 0. 90 m2
Ly T + w 1.56 - 1.05 x .11 = 0.39 m3
LWy TE = 0.39 m3
As
By T t=bcm 0.90 X 0.05 X 1. 00 = 0. 05 m3
AR (13)
A8 1A T As t=3cm 0.90 X 1. 00 = 0.90 m2
2SN N H=2. 00m = 1.00 m
KR 1E% = 1.00 m




A HIVP$ 150  ( 178 BE ) H= 1.31 m
+ ¥ . H=2.0m (1B%) L= 56.12 m
(BEEEB:1E T/E10cm)
’{E@IE | FiEd FE t=5cm
RE BEBRE (13) : EE BEEHE %E
W SE7 A2 HAEBRRE7T R (13)
| PEE e A t=10cm
! 40051
| 2 T g B t=10cm
= —r 4 $|
] R L R (30 =
g m?T‘JV‘\'—7J RC-30) 2 %571‘?% (/{) 165mm
mfx BRI 1.575 m
"L 1R IR 0.900 m
paran b
— BT 0.100 m
l B R 0.100 m
1m0 f g
4 i JEIRSTE g L = i
SRR T As  t=bem .00 X 2 = 2.00 m
AL E I T As t=5cm 0.90 X 1. 00 = 0.90 m2
HEARAH HI T HhL 0.90 X 1.525 X 1.00 - 1.37 m3
FEAR AR A L5t = 1.37 m3
R T Wb (0.90 X 0.365 -(x/4X 0.165 "2)) X 1.00 = 0.31 m3
H R T N 0.90 X 0.960 X 1. 00 = 0. 86 m3
M-30
b JE A T t=12cm 0.90 X 1. 00 = 0.90 m2
RC-30
TE AT t=10cm 0.90 X 1.00 = 0. 90 m2
Ly T + w 1.37 - 0.86 X .11 = 0.42 m3
LWy TE = 0.42 m3
As
By T t=bcm 0.90 X 0.05 X 1. 00 = 0. 05 m3
AR (13)
A8 1A T As t=3cm 0.90 X 1. 00 = 0.90 m2
2SN N H=2. 00m = 1.00 m
KR 1E% = 1.00 m




A HIVP$ 150  ( 178 BE ) H= 1.35 m
+ ¥ . H=2.0m (1B%) L= 5241 m
(BEEEB:1E T/E10cm)
’{E@IE | FiEd FE t=5cm
K AR (13) | e B Lo o e
W SE7 A2 HAEBRRE7T R (13)
| PEE e A t=10cm
! 40051
| 2 T e B t=10cm
= —r 4 $|
] R L R (30 =
g m?T‘JV‘\'—7J RC-30) 2 %571‘?% (/{) 165mm
mfx BRI 1.615 m
"L 1R IR 0.900 m
poran b
— SRS 0.100 m
l B R 0.100 m
1m0 f g
4 i JEIRSTE g L = i
SRR T As  t=bem .00 X 2 = 2.00 m
AL E I T As t=5cm 0.90 X 1. 00 = 0.90 m2
HEARAH HI T HhL 0.90 X 1.565 X 1.00 - 1.41 m3
FEAR AR A L5t = 1.41 m3
R T Wb (0.90 X 0.365 -(x/4X 0.165 "2)) X 1.00 = 0.31 m3
H R T N 0.90 X 1.000 X 1. 00 = 0.90 m3
M-30
b JE A T t=12cm 0.90 X 1. 00 = 0.90 m2
RC-30
TE AT t=10cm 0.90 X 1.00 = 0. 90 m2
Ly T + w 1.41 - 0.90 X .11 = 0.41 m3
LWy TE = 0.41 m3
As
By T t=bcm 0.90 X 0.05 X 1. 00 = 0. 05 m3
AR (13)
A8 1A T As t=3cm 0.90 X 1. 00 = 0.90 m2
2SN N H=2. 00m = 1.00 m
KR 1E% = 1.00 m




A% HIVP$ 150  ( 178 BE ) H= 1.86 m
+ ¥ . H=2.5m (2B%) L= 6.86 m
(BEEEB:1E T/E10cm)
’{E@IE | FiEd FE t=5cm
RE BEBRE (13) : EE BEEHE %E
W SE7 A2 HAEBRRE7T R (13)
| PEE e A t=10cm
[ 4005LE
| 2 T e B t=10cm
8 —r 4 $|
] R L R (30 =
g Tﬁ%??wvv—v; RC-30) 2 %571‘?% (/{) 165mm
mfx BRI 2.125 m
"L 1) 0.900 m
poran b
— SRS 0.100 m
! B R 0.100 m
1m0 f g
4 PR JEIRSTE i L = i
SRR T As  t=bcm .00 X 2 = 2.00 m
AL E I T As t=5cm 0.90 X 1. 00 = 0.90 m2
HEARAH HI T HhL 0.90 X 2.075 X 1.00 - 1.87 m3
FEAR AR A L5t = 1.87 m3
R T wh ( 0.90 X 0.365 —(x/4X 0.165 "2)) X 1.00 = 0.31 m3
H R T N 0.90 X 1.510 X 1. 00 = 1. 36 m3
M-30
b JE A T t=12cm 0.90 X 1. 00 = 0.90 m2
RC-30
TE AT t=10cm 0.90 X 1.00 = 0. 90 m2
Ly T + w 1.87 - 1.36  x .11 = 0. 36 m3
Ay 1E = 0. 36 m3
As
By T t=bcm 0.90 X 0.05 X 1. 00 = 0. 05 m3
AR (13)
1€ 1B T. As t=3cm 0.90 X 1. 00 = 0.90 m2
2SN N H=2. 50m = 1.00 m
KR 2B% = 1.00 m




A HIVP$ 150  ( 178 BE ) H= 1.37 m
+ ¥ . H=2.0m (1B%) L= 12.32 m
(BEEEB:1E T/E10cm)
’{E@IE | FiEd FE t=5cm
K AR (3) | e B Lo o e
W SE7 A2 HAEBRRE7T R (13)
| PEE e A t=10cm
! 40051
| 2 T g B t=10cm
= —r 4 $|
] R L R (30 =
g m?T‘JV‘\'—7J RC-30) 2 %571‘?% (/{) 165mm
mfx BRI 1.635 m
"L 1R IR 0.900 m
paran b
— BT 0.100 m
l B R 0.100 m
1m0 f g
4 i JEIRSTE g B = i
SRR T As  t=bem .00 X 2 = 2.00 m
AL E I T As t=5cm 0.90 X 1. 00 = 0.90 m2
HEARAH HI T HhL 0.90 X 1.585 X 1.00 - 1.43 m3
FEAR AR A L5t = 1.43 m3
R T Wb (0.90 X 0.365 -(x/4X 0.165 "2)) X 1.00 = 0.31 m3
H R T N 0.90 X 1.020 X 1. 00 = 0.92 m3
M-30
b JE A T t=12cm 0.90 X 1. 00 = 0.90 m2
RC-30
TE AT t=10cm 0.90 X 1.00 = 0. 90 m2
Ly T + w 1.43 - 0.92 X .11 = 0.41 m3
LWy TE = 0.41 m3
As
By T t=bcm 0.90 X 0.05 X 1. 00 = 0. 05 m3
AR (13)
A8 1A T As t=3cm 0.90 X 1. 00 = 0.90 m2
2SN N H=2. 00m = 1.00 m
KR 1E% = 1.00 m




10

A% HIVP$ 150  ( 178 BE ) H= 2.12 m
+ ¥ : H=2.5m (2B%) L= 5.15 m
(BEEEB:1E T/E10cm)
’{E@IE | FiEd FE t=5cm
£E EETHE (13) | e BTt e
W SE7 A2 HAEBRRE7T R (13)
! PEE e A t=10cm
4005LE
| T g B t=10cm
= —r 4 $|
] R L R (30 =
g Tﬁ%??wvv—v; RC-30) 2 %571‘?% (/{) 165mm
mfx BRI 2.385 m
"L 1) 0.900 m
paran b
— BT 0.100 m
! B R 0.100 m
1m0 f g
4 PR JEIRSTE i L = i
SRR T As  t=bcm .00 X 2 = 2.00 m
AL E I T As t=5cm 0.90 X 1. 00 = 0.90 m2
HEARAH HI T HhL 0.90 X 2.335 X 1.00 - 2.10 m3
FEAR AR A L5t = 2.10 m3
R T wh ( 0.90 X 0.365 —(x/4X 0.165 "2)) X 1.00 = 0.31 m3
H R T N 0.90 X 1.770 X 1. 00 = 1.59 m3
M-30
b JE A T t=12cm 0.90 X 1. 00 = 0.90 m2
RC-30
TE AT t=10cm 0.90 X 1.00 = 0. 90 m2
Ly T + w 2.10 - 1.59  x .11 = 0.34 m3
Ay 1E = 0.34 m3
As
By T t=bcm 0.90 X 0.05 X 1. 00 = 0. 05 m3
AR (13)
1€ 1B T. As t=3cm 0.90 X 1. 00 = 0.90 m2
2SN N H=3. 00m = 1.00 m
XL 2B = 1.00 m
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A% HIVP$ 150  ( 178 BE ) H= 1.38 m
+ ¥ . H=2.0m (1B%) L= 2.03 m
(BEEEB:1E T/E10cm)
’{E@IE | FiEd FE t=5cm
RE BEBRE (13) : EE BEEHE %E
W SE7 A2 HAEBRRE7T R (13)
| PEE e A t=10cm
[ 4005LE
| 2 T g B t=10cm
8 —r 4 $|
] R L R (30 =
g Tﬁ%??wvv—v; RC-30) 2 %571‘?% (/{) 165mm
mfx BRI 1.645 m
"L 1) 0.900 m
paran b
— BT 0.100 m
! B R 0.100 m
1m0 f g
4 PR JEIRSTE i L = i
SRR T As  t=bcm .00 X 2 = 2.00 m
AL E I T As t=5cm 0.90 X 1. 00 = 0.90 m2
HEARAH HI T HhL 0.90 X 1.595 X 1.00 - 1. 44 m3
FEAR AR A L5t = 1. 44 m3
R T wh ( 0.90 X 0.365 —(x/4X 0.165 "2)) X 1.00 = 0.31 m3
H R T N 0.90 X 1.030 X 1. 00 = 0.93 m3
M-30
b JE A T t=12cm 0.90 X 1. 00 = 0.90 m2
RC-30
TE AT t=10cm 0.90 X 1.00 = 0. 90 m2
Ly T + w 1.44 - 0.93 X .11 = 0.41 m3
Ay 1E = 0.41 m3
As
By T t=bcm 0.90 X 0.05 X 1. 00 = 0. 05 m3
AR (13)
1€ 1B T. As t=3cm 0.90 X 1. 00 = 0.90 m2
2SN N H=2. 00m = 1.00 m
KR 1E% = 1.00 m




A HIVP 6 150 ( VL5 S ) H= 1.07 m 12

+ B . £EARL L= 10.88 m
lﬂiﬁlEl ! 2&15!5_‘ %) t=5em
=E BETHMET R (13) i RIF BETHET R2 2 (20) g t=bcm
i I HAEMRRBET X2 > (20) b= g t=10cm
s Y |' , / = T t=30cm
= RS0 A 0 —
S i 15 R
= Lopi 3 fn-i—ay (RC-30) =3 E%Ti ¢ 165mm
. PRHIE 1.335 m
ﬂi* R b 0.600 m
| faran bk
" B 0.100 m
l B b 0.100 m
1m¥Y Y &
£ i JEIRSTE g H o i
ERLEY) I T As  t=10cm 1.00 X 2 = 2.00 m
R e As  t=10cm 0.60 X< 1.00 = 0.60 m2
HEARAH HI T Hhly 0.60 X 1.235 X 1. 00 = 0.74 m3
P T3 = 0.74 m3
FFEIE 0.60 X 1. 00 = 0. 60 m2
H R T b ( 0.60 X 0.365 -(zx/4X 0.165 "2)) X 1.00 = 0.20 m3
R T WAz 0.60 X 0.470 X 1. 00 = 0.28 m3
M-30
BT t=17cm 0.60 X 1. 00 = 0.60 m2
RC-30
TE AT t=30cm 0.60 X 1.00 = 0. 60 m2
sy T + W 0.74 - 0.28 X L. 11 = 0.43 m3
By 1TE = 0.43 m3
As
FRBAAL Y T t=10cm 0.60 X 0.10 X 1. 00 = 0. 06 m3
AR (13)
A 1H T As  t=3cm 0.60 X 1. 00 = 0. 60 m2
B ] Rl T —
PR —




+ T % E 5 B E

(HIVP ¢ 150)
(5-1F&%R)




I+ HYVEER (1)
155 . HIVP ¢ 150 SRR . BESEE +EBT: H=2.0m (1E%)
b= b= TR THY THY T#Y THY (FH)
(FH) (L5) (F#) (£ (EH) xR
No. 8+17.74 No. 8+19. 63 1.89 1.64 1.29 1.47 2.78
No. 8+19.63 No. 8+24.51 4.88 1.29 1.32 1.31 6. 39
No. 8+24.51 No. 8+26. 14 1.63 1.32 1.00 1.16 1.89
8. 40 11.06
Z £ 8. 40 m
EFHEHY = 1106 / 8. 40 1.32 m
THIHYEER (2)
1HEEE - HIVP ¢ 150 HEErEn . REEEL 81T £84HL
A= A= TR T#wy T#HY T#HUY THY (FEH)
(F) (E5%) (T (3 (F1) xR
No. 8+87.75 No. 8+92.55 4.80 1.00 1.00 1.00 4.80
No. 8+96.32 No. 9-0.50 3.18 1.00 1.01 1.01 3.21
7.98 8.01
Z K = 7.98 m
THEHY = 8.01 / 7.98 1.00 m




I+ HYVEER (3)
125 . HIVP ¢ 150 SEER . BESEL +8T . +BAL
Bl B TR Y Y Y [t®Y ()
() (L35 (T3 (L) CE) xER
No. 8+26.14 No. 8+87.75 61. 61 1.00 1.00 1.00 61. 61
No. 9-0.50 No. 9 0. 50 1.01 1.01 1.01 0.51
No. 9 No. 9+77.28 77.28 1.01 1.00 1.01 78.05
No. 9+88. 52 No. 9+92. 64 4.12 1.05 1.00 1.03 4.24
No. 9+92. 64 No. 13+37.43 344.79 1.00 1.00 1.00 344.79
No. 13+37. 43 No. 14 62.57 1.00 1.22 111 69. 45
No. 14 IP. 25 13.76 1.22 1.19 1.21 16. 65
IP. 25 IP. 26 10. 98 1.19 1.20 1.20 13.18
IP. 26 IP. 27 2.70 1.20 1.22 1.21 3.27
IP. 27 IP. 28 3. 80 1.22 1.25 1.24 4.71
IP. 28 IP. 29 1.48 1.25 1.22 1.24 1.84
IP. 29 No. 14+33 61 0. 89 1.22 1.20 1.21 1.08
584. 48 599. 38
Z £ = 584.48 m
FHEWY =  599.38 / 584. 48 1.03 m
T+ Y EER (4)
1B . HIVP ¢ 150 SEER . BEEEL BT H=2.0m (1E})
A= A= TR T#wy T#HY T#HUY THY (FEH)
(T (£ (FiD) (D (F1) x &
No. 8+92.55 No. 8+93.66 111 1,00 1.47 1.24 1.38
No. 8+93.66 No. 8+95. 16 1.50 1.47 1.48 1.48 2.22
No. 8+95. 16 No. 8+96.32 1.16 1.48 1.00 1.24 1.44
3.77 5. 04
T K = 3.77 m
FHETHY = 5. 04 / 3.77 1.3 m




I+ HYVEER (5)
155 . HIVP ¢ 150 SRR . BESEE +8T : H=2.0m (1E%)
b= b= TR T#y T#y T#y THY (FH)
(T () (T (5D (F) xR
No. 9+77.28 No. 9+78.40 1.12 1.00 1.47 1.24 1.39
No. 9+78. 40 No. 9+87.49 9.09 1.47 1.48 1.48 13.45
No. 9+87.49 No. 9+88.52 1.03 1.48 1.05 1.27 1.31
1124 16. 15
Z& K &t 11.24 m
FHEHY = 1615 / 11.24 1. 44 m
THIHYEER (6)
#Bege . HIVP ¢ 150 SRR . EEEEE +EBI: H=2.0m (IER)
A= A= TR T#wy T#HY T#HUY THY (FEH)
(F) (£ (T (3 (F1) xER
No. 14+33. 61 No. 14+41 13 7.52 1.20 1.69 1.45 10. 90
No. 14+41.13 No. 14+44. 11 2.98 1.69 1.57 1.63 4.86
No. 14+44. 11 No. 14+44.83 0.72 1.57 1.57 1.57 1.13
O 112 16. 89
£ £ it 11.22 m
EHEHY =  16.89 / 11.22 1.51 m




EHTHEYEER (7)
1BEE . HIVP$ 150 SERER . ThEEES T8I t8HL
Bl = s TR Y TH#HY THY  [twy (T
(T3) (EF) (FH) (EF) (F19) xXEE
No. 14+44.83 No. 14+55. 21 10.38 1.57 1.18 1.38 14.32
No. 14+55. 21 No. 15 44.79 1.18 1.16 1.17 52. 40
No. 15 No. 15+45.24 45.24 1.16 1.02 1.09 49. 31
100. 41 116. 03
E £ i = 100.41 m
FigLHEY = 116.03 / 100. 41 = 1.16 m
FEHTHEYEER (8)
HBEEE - HIVP@ 150 SHERER . TEEEE THBI: H=2.5m (2B
Bl Bl EE Ty |y T8y THY CEH)
(Fi#) (EF) (F#) (£ (F#) XER
No. 15+45.24 No. 15+46. 43 1.19 1.02 2.18 1. 60 1.90
No. 15+46. 43 No. 15+48. 43 2.00 2.18 2.11 2.15 4.30
No. 15+48. 43 No. 15+49.93 1.50 2.11 1.44 1.78 2.67
4.69 8.87
E £ it = 4.69 m
FigLHEY = 8.87 / 4.69 1.89 m




THIHYEER (9)
IBGE . HIVP@ 150 HEETER - hEEE T8I x84 L
pi= = ER Ty Ty N L U E 25D
(Fiw) (EF) (FH) (ER) (1) x fEfR
No. 15+49.93 No. 15+65.09 15.16 1.44 1.03 1.24 18.80
No. 15+65.09 No. 15+66. 98 1.89 1.03 1.00 1.02 1.93
No. 15+66. 98 IP. 30 178. 80 1.00 1.00 1.00 178. 80
IP. 30 IP. 31 2.62 1.00 1.05 1.03 2.70
IP. 31 No. EP 3.23 1.05 1.06 1.06 3.42
201.70 205. 65
Z®=® £ &t = 201.70 m
EHETHEY = 205. 65 / 201.70 1.02 m
THTHYEER
HEE EEZEVIR TBTI:
pe= pe= ER Ty Ty N X U E 25D
(Fi) (EiR) (Fi) (ER) (F1) X ER
E K & m
EHLHY = Z il




A% HIVP$ 150  ( WIEHE TS ) H= 1.32 m
+ B . H=2.0m (1E%) L= 8.40 m
kg8 . AEIH
: =) t=3cm
=B BEEHETRIL () : =B BNETRIL 1D %)%
TRB® BEX7Sviv—7 (RG-3I0) | TEEBEBEZvivy—7 (RG-30)
74 LB B | T LB B AR t=10cm
s | - 745 —JE  t=5cm
o s s
= I , !
| 1 | GO ¢ 165m
| ax | HE 1.585 m
| N, | 1) 0.900 m
e w BTHEME  0.100 m
. (=P Y 0.100 m
1mY4 Y&
4 PR ARSI g L = g
ARLEY) M T As  t=3cm .00 X 2 = 2.00 m
A T As  t=3cm 0.90 X 1. 00 = 0.90 m2
b i 1] T Hl 0.90 X 1.555 X 1. 00 = 1.40 m3
BEARIEEI T = 1. 40 m3
R T b 0.90 X 0.365 -(x/4X 0.165 "2)) X 1.00 = 0.31 m3
HOE T A 0.90 X 1.040 X 1.00 = 0.94 m3
RC-30
FRERAR T t=10cm 0.90 X 1. 00 = 0. 90 m2
LR
T A4 )VH—]E t=bcm 0.90 X 1. 00 = 0.90 m2
sy 1 + w 1.40 - 0.94 X 1.11 = 0.36 m3
WS TE = 0. 36 m3
As
FRBLAL S T t=3cm 0.90 X 0.03 X 1. 00 = 0.03 m3
AR (13)
B IH T As t=3cm 0.90 X 1. 00 = 0.90 m2
RS B AR T H=2. 00m = 1.00 m
FiR L 1E% - 1.00 m




ARk HIVP$ 150  ( W38 HIE ) H= 1.00 m

+ ¥ . BEERL L= 7.98 m
RiEIH | *1g18
| Fz = t=5cm
EE BEBHNETR2(13) ‘ R BEBERETAD 20 %% t=5cm
| EB BEMBMET R 220
- kA t=10cm
= Y bt 2 TR t=30cm
8 rEEE HEFBRE 000 B
2 ﬁib?y*‘/-‘vr%‘/ (RG-30) S (292 ¢ 165mm
[
ET: TElIRES 1.265 m
| A e 0.600 m
Bl w WEARE 0,100 m
W EAEEE 0100 m
1mY v
4 W AR i L = i
ARG T As  t=10cm .00 X 2 = 2.00 m
A T As  t=10cm 0.60 X 1. 00 = 0.60 m2
MR Y T Hi 0.60 X 1.165 X 1. 00 = 0.70 m3
PEMRE AN TE = 0.70 m3
e IE 0.60 X 1.00 - 0. 60 m2
R T W ( 0.60 X 0.365 -(x/4X 0.165 "2)) X 1.00 = 0.20 m3
R T Wt 0.60 X 0.400 X 1.00 = 0.24 m3
M-30
FERgAE T t=17cm 0.60 X 1.00 = 0. 60 m2
RC-30
e T t=30cm 0.60 X 1. 00 = 0.60 m2
sy 1 + w 0.70 - 0.24 X 1.11 = 0.43 m3
ALy TR = 0.43 m3
As
FedfiaLsy T t=10cm 0.60 X 0.10 X 1. 00 = 0. 06 m3
FRAERDRL (13)
AR 1H T As  t=3cm 0.60 X  1.00 = 0. 60 m2
g I R AR —
XPR T -




AR HIVP¢ 150  ( PR ) H= 103 m
+ W BERARL L= 584.48 m
w&EIR . &A@\
- : i%% t=3cm
EF BESHETAL (Y \ : _ER BHR7 23209 H =
FEBS BL£57vov—3> RC-30) | | TRBEBLYIviv—3 (RE-30)
T4 LE—R BB I"\{ \ if:.f' I LE—B BB %}a‘% t=10cm
n ‘!,‘!\_\ | ,, - T4 NE—fE t=bcm
I A AN S S s
w3 } ’ i
| } | EOME ¢ 165mm
| s | R 1.295 m
| | | i 1) g 0.600 m
3 EORHEHE 0.100 m
EHIE W
‘ W EAEEE 0100 m
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0.408-0.25
m’ 1.39




EEIAIMESHTESE
TH SR ALTAEEETS

I=4:

I#iNo  No.1-1 By EE
R—ULTES Noi Ik #EEAR
BB BE T E NIME| g 0
s 99.08 |
F1E 9838 070 ¥5Et 3
E2E 97.23 115 fhitt 3
E3E 96.73 050 ¥+ 4 2081
EARE 9628 045 #fEL 4
¥5E 9558 070 #fEx 3 BRFE
#6/B 9438 120 Mt 7
ETE 0368 070 i+ 3
$8E 92.23 145 $iEL 6
HEOfE 0

1.30

1.00

tyb L 2tvh
Ao TES Mo + B GEAB N fE GEIAE I & 5 £f§ ffg Iﬁ)&;ﬁ
'S GL—  99.01 (m) (%) (m3) (1) (n (
FALIEES  EL— 09691 %t o018 4 24000 025 30 30 60
EATIMRE EL— 9561 g+ 045 4 24000 063 76 76 151
ERE AR L 0.67 3 28000 094 132 132 263
IAEHE A= 100X 1.40
= 1.40 (m2)
FEAREN= 140~ 1
= 1 (&)
—ARHf-YEATE
a= 140+ 100 &%t 1.30 182 237 237 474
= 1.40 (m2) e 470.00
R=U IR R wan
= HIFLE
(m)
gt 0.00
mEL 0.00
L 3.40
=H 3.40

177 R=



FBREIAIHERES
T4 TH_RERAHTKEERIS

T HiNo IP6 Br & fIE TiRAE
R—)2F &S Noi Iz #HHAR tyb 2ty
= Wi @ AEE
Z®E EBE tH® NIiE 98,91 o L + B OEAB N fE EAZ L B 1R 2R EAR
— R—1)oTFS Noi FAER FEAER | BF
B 99.08 . 130 M1 & & GL— 9895 (m) (%) (m3) (1) (1) (1)
=1 9838 070 #hit+ 3 EALIHES EL— 9691 Mttt 0.18 424000 025 30 30 60
FofE 97.23 115 e+ 3 0561 FEATIHES EL— 9561  gri+ 0.45 424000 063 76 76 151
3E 96.73 050 ML 4 ' : S A S L 0.67 3128000 0.94 132 132 263
48 96.28 045 #fEx 4 SEAEE A= 1.00 x 1.40
58 9558 070 iM%+ 3 BRFE = 1.40 (m2)
$6/E 9438 120 Mt 7 SEARHN = 140+ 1
E7E 9368 070 kit 3 1.00 - 1 (x)
EX)E 92.23 145 it 6 —AREYEAETE
ZoE . 0 a= 140+ 100 &%t 1.30 182 237 237 474
= 1.40 (m2) o 47000
K=Y 5 E iR BT
5 HIfLF
(m)
Y 0.00
wEL 0.00
gL 3.34
=1 3.34

2/7 R—



FBREIAIHERES
T4 TH_RERAHTKEERIS

T HiNo IP6 BH & fIE TiRBiE
R—)2F5 &S Noi Iz #HHAR tyb# 2ty
= o B BTE HEEH
25 BE tH NIE 96.88 N + B EABE N E EAE I W 1R 2R EAR
= 9908 A=V2TES N EAR EAER &3
= ' . 110 H1 8 & GL— 9895 (m) (%) (m3) (1) (1) (1)
& 9838 070 #hfEt+ 3 FALIEES EL— 9688 #M%t 015 4 24000 020 24 24 48
= 97.23 115 gttt 3 0576 FEATIHES EL— 9578  ghit+ 0.45 424000 059 71 71 142
3E 96.73 050 ML 4 ' : S A S L 0.50 3128000 0.65 91 91 182
4fE 96.28 045 #fEx 4 FAEEA= 100X 1.30
58 9558 070 iM%+ 3 BRFE = 1.30 (m2)
$6/E 9438 120 Mt 7 SEARHN = 130+ 1
E7E 9368 070 g+ 3 1.00 - 1 (x)
EX)E 92.23 145 it 6 —AREYEAETE
EIE ) 0 a= 130+ 100 &%t 1.10 1.44 186 186 372
= 1.30 (m2) e  370.00
K=Y 5 E iR BT
5 HIfLF
(m)
gt 0.00
wEL 0.00
gL 3.17
=1 3.17

3/7T R—T



FBREIAIHERES
T4 TH_RERAHTKEERIS

I HNo P23 BH & g LA
A= 5 ES Not T  H#EEAR b 2tzvb
= o B BTE HEEH
Z®E EE tH® NIi& 98.54 L + B EAB N fE AR T B 1R 2R IAE
— R—UL 5 &S Nod AR IAE A%
= ' . 130 M1 & & GL— 9956 (m) (%) (m3) (1) (1) (1)
= 9838 070 #hfEt 3 FALIRES EL— 9854 #ittt 016 3 28000 022 31 31 62
#2fE 9723 115 ittt ' EATIRS  EL— 9724 gt 114 3 28000 160 224 224 448
3@ 9673 050 it 4 ' st A
472 96.28 045 #htEt 4 SEAEE A= 1.00 X 1.40
58 9558 070 iM%+ 3 BRFE = 1.40 (m2)
%68 9438 120 ¥ttt 7 EAKRE N = 140+ 1
E7E 9368 070 g+ 3 1.00 - (&)
EX)E 92.23 145 it 6 —AREYEAETE
E1e)= ) 0 a= 140+ 100 && 1.30 1.82 255 255 510
= 1.40 (m2) &  510.00
K=Y 5 E iR BT
T8 HIfLF
(m)
Y 0.00
wEL 0.00
gL 2.32
=1 232

47 R—



FBREIAIHERES
T4 TH_RERAHTKEERIS

I HNo P23 BH & g LiFBiE
A= 5 ES Not T  H#EEAR b 2tzvb
= o B BTE HEEH
=% EBE +®H N 9851 e + B EAB N B EAR T OB 1R 2R EAR
— R—Uo T ES Nod AR IAE A%
= ' . 110 i & B GL— 9956 (m) (%) (m3) (1) (1) (1)
=1 9838 070 #hit+ 3 FEALIRES EL— 9851 ittt 0.13 3 28000 0.17 24 24 48
FofE 97.23 115 e+ 3 0701 FEATIRES EL— 9741 g+ 0.97 3 28000 1.26 177 177 353
3@ 9673 050 it 4 ' st A
4fE 96.28 045 #fEx 4 FAEEA= 100X 1.30
58 9558 070 iM%+ 3 BRFE = 1.30 (m2)
%68 9438 120 ¥ttt 7 EAKRE N = 130+ 1
E7E 9368 070 g+ 3 1.00 - (&)
EX)E 92.23 145 it 6 —AREYEAETE
E1e)= ) 0 a= 130+ 100 &% 1.10 1.43 201 201 401
= 1.30 (m2) %M&  400.00
K=Y 5 E iR BT
T8 HIfLF
(m)
Y 0.00
wEL 0.00
gL 215
=1 2.15

5/7 R—



FBREIAIHERES
T4 TH_RERAHTKEERIS

I HiNo P24 Bry EZE & T
A= 5 ES Not T  H#EEAR b 2tzvb
= o B BTE HEEH
25 BE tH NIE 98.54 N + B EABE N E EAE I W 1R 2R EAR
— R—UL 5 &S Nod AR IAE A%
= ' . 130 M1 & & GL— 9965 (m) (%) (m3) (1) (1) (1)
= 9838 070 #hfEt 3 FALIRES EL— 9854 #ittt 016 3 28000 022 31 31 62
#2fE 9723 115 ittt ' EATIRS  EL— 9724 gt 114 3 28000 160 224 224 448
3@ 9673 050 it 4 ' st A
472 96.28 045 #htEt 4 SEAEE A= 1.00 X 1.40
58 9558 070 iM%+ 3 BRFE = 1.40 (m2)
%68 9438 120 ¥ttt 7 EAKRE N = 140+ 1
E7E 9368 070 g+ 3 1.00 - (&)
EX)E 92.23 145 it 6 —AREYEAETE
E1e)= ) 0 a= 140+ 100 && 1.30 1.82 255 255 510
= 1.40 (m2) &  510.00
K=Y 5 E iR BT
T8 HIfLF
(m)
Y 0.00
wEL 0.00
gL 2.41
=1 2.41

6/7 R—2



FBREIAIHERES
T4 TH_RERAHTKEERIS

iIHiNo EPEB BHy R g EiRE
A= 5 ES Not T  H#EEAR b 2tzvb
= o B BTE HEE
2E EBE t® NI | g HERE £ B OEAB N fE EAR T OB 1R 2R EAR
—T m R—U T ES N EAE IAR A%
= ' . 120 2B GL— 100.02 (m) (%) (m3) (1) (1) (1)
= 9838 070 ¥siEt 3 EALmER EL— 9630 fsifEt 002 4 24000 003 4 4 7
= 97.23 115 ettt 3 05 10 FEATIHES EL— 9510  ghit+ 0.70 3 28000 092 129 129 258
3@ 9673 050 it 4 ' st A
4fE 96.28 045 #fEx 4 FAEEA= 120 % 1.10
58 9558 070 iM%+ 3 BRFE = 1.32 (m2)
%68 9438 120 ¥ttt 7 EAKRE N = 132+ 1
E7E 9368 070 kit 3 1.20 - (&)
EX)E 92.23 145 it 6 —AREYEAETE
Ee)= ) 0 a= 132+ 100 &% 0.72 0.95 133 133 265
= 1.32 (m2) e  260.00
K=Y 5 E iR BT
T8 HIfLF
(m)
Y 0.00
wEL 0.00
gL 4.44
= 4.44

71 R—2



# H#£ T £ & F (SP@250) KYT-204WZ

T i 7 b3z % B 4 # = ]

SP ¢ 250mm & HE 3 TSRS S HPEARXKR—U VI AR YA 2
—E45—TU9R
X M E E m 16. 17
#H OE E E m 11. 42
T R EE m 0. 00
11.22=1.00
T M # £ O 250mm L=1. 00m/A& Z 12
ARG 5 D250 T 1& 2
e ®150 X 0.0
BEEAR—H— ® 150 & 7
EEVHY b ®150 & 0
# O T MEHLET m 11.42
EEERHATL m 11. 42
EAMEAT m 11. 42
FADHEAT m3 0.34
BTinT B ansy m3 0.64
R&EEIT

woT SP ¢ 250mm & FH & 4
& v T B22MERR &Fr 4
m 1.2
HEHERET & 2
FARERET R 2




¢ 250mm (¢ 150) S SCEHEEE Tk (SryislE)  REHR 5 T

P
A R IR 2
A e = s ik B " % fi L R LY =5
Al A B e | o x| T i IRERE v | | aft | b
4 WooR | B | & | F meoR S| o wo | | 7N [P e | | | S| S| s | s
I STy 797 ol | U R et |G ] R | | wl |, s
5| & T Witk [ ok |w w6250 Tl T | | B | R B B O A e BEIR i
L= H T —| R 1<N<30 EAA L= T | =# {%f wmllmtlet] - B AR e
, - , , , , , , T | T | < | A LA
T | T L c+f| L L L 1.00m |0.10m| L L L xvil xv2 B BN
S0yl I ety m m m A | e m | m m m | K m | w® | w® | 2| | | | | | | | | | | @ [
No. 1-1 JERE T
1P. 6 10. 05 2.25 7.80 |&t Lk 5 2.25 7.80 7.701 1 0.23] 0.44 1 1 2 2
2d-9 1P23 JERE T
Huft6 | 124 6. 12 2.50 3.62 | E 2 2.50 3. 62 3.52] 1 0.11] 0.20 1 1 2 2
& 16.17 11.42 7 11.42 11.22 2 0.34( 0.64 2 2 4 4
5.71 EOVEE| 4 | #7
| W 5,71 1, x, vEAILNE
1m¥Y HJHAEAL VI = (0.254272- 0.16572) X 7 /4X1.00= 0.029 m®/m 2, a,b,d, el HHE (RO
1m4Y FOEBEL V2 = 0.2674°2 X 7 /4 X 1.00 = 0.056 m®/m R L R AR DR
3, L’ (MEEIER) 1R OB
b e 4, FEFIR OB O LRFREICOWTIAL L LR EHH
5, MEORBITHEELER ZME 1 K472 RETHS
6, HEIL M —E—/LI#432022-P42
............................................ =y AT X 18 = m
& )| o . FA4F— 4 @@ X 18 = 7.2 m
I —— \ N S @ x 18 = m
waEt 7.2 m
FEHEHT BT
c L f




BEMXIRINT Kitx

1 fi - i H e H A
FE— —FEiE 7~ —HIE
T 8T No. 1-1 IP. 6 1P. 23 IP. 24
A RIRILYT s+ ik 1,500 1,500 2,500 X 1, 500 | 2, 500X 1, 500 | 1, 500 X 1, 500
% R BAT X R & 3.500 3.500 2. 500 2.500
AR 6. 000 8. 000 8.000 6. 000 28.000 m
FARH 24. 000 32. 000 32. 000 24. 000
8 1.084 1.445 1.032 0.774 4.335 ton
EE-285 0.993 1.355 0. 968 0.710 4.026 ton
% R BET X R & 3.500 3.500 2. 500 2.500
RELR 5. 500 7.500 7.500 5. 500 26. 000 m
X R & 2.300 2.200 1. 090 1.230
RELR 0. 500 0. 500 0. 500 0. 500 2.000 m
WET (X2 T v 7 E2. ki) 0. 059 0. 057 0.028 0. 032 0.176 ton
K ERY TR (X T v 7E2. 5nk 0.031 0.034 0.036 0.033 0.134 ton
IHERI
avyy—+I 0.225 0. 375 0.375 0. 225 1.200 m3
ERHBET 0.338 0.563 0. 563 0.338 1.802 m3
MR
T BXKRT R Al 08 1. 500 2. 500 2. 500 1. 500
XRER 3.000 4.000 4.000 3.000 14. 000 m
BOEOE T
8 TAR 4.000 6. 000 6. 000 4.000 20. 000 m2
8 TAR 0.720 1. 080 1. 080 0.720 3. 600 ton
2 #i 0.216 0.316 0.316 0.216 1.064 ton
HiZ 0.216 0.216 0.216 0.216 0.864 ton
S ) 0. 205 0.254 0. 254 0. 205 0.917 ton
| S\EmYBRLT
Bl 8. 640 10. 640 10. 640 8. 640 38.560 m
AidEE 0 L T 4. 666 6.826 6. 826 4. 666 22.984 m2
PSSy T 0.233 0.341 0.341 0.140 1.055 m3
+ T
Al T BEID 2. 566 3.754 3.754 2. 566 12. 640 m3
iR OEl T SLHLER 6.264 11. 003 6. 840 3.857 27.964 m3
i 40. 604 m3
#RLI At 5. 690 11.150 5. 540 3. 460 25. 840 m3
#RLI B 0. 790 1. 320 1.320 0.790 4.220 m3
i 30. 060 m3
Fetk 4 AR (BR15 ~ (R I5 ~ Fsth) 28. 682 m3
Stk 4 0B (BRIG~ REIH ~ M5 1) 11.922 m3
SMEHBT
FAERIET 220 (13)
KIET 4. 670 6. 830 6.830 4. 670 23.000 m2
REFA AT (M-30)
AR T 4.670 6.830 6. 830 18. 330 m2
BT T v v —7 2 (RC-30)
BRAE T 4.670 4.670 m2
BT T vy v —7 2 (RC-30)
TE AR T 4.670 6.830 6.830 18. 330 m2
T4LE—fE )
BRAE T 4.670 4.670 m2




No. 1-1 —

BEMEREATL1,500x1,500  (No.1-1)
1. FE - 41 H B = ¥ & H Az
VAR N T s A = 1.500 X 1. 500 = 2.250 (m2)
2 bt JE E L = 2 X 1.500 + 1.500 ) = 6.000 (m)
+ B M OB iR B AR (LSP— 1 %) FEFZ 1,500 X 1, 500mm
IS Y EE (1m¥Mhn)
W= 12.9 = 12.9 (Kg/m)
BET 1m2¥4 v FHE
w= 51.6 = 51.6 (Kg/m2)
T F - 41 H B Y % & H {7
+ 8 T R (LSP-1 %) FEJ% 1, 500X 1, 500mm
REMABREAT K R E L= 3.500 m -
L =t
AR N=_ 6.000 / 0. 250 3 = 24 = 24
e [ (&JA%7)
BEAGER L= 24 X 0. 250 = 6.000 6. 000 m
e = (Kg/m)
E W= 24 % 3.500 X 12.9 = 1.084 1.084 ton
REMAERMET K R E L= 3.500 iézn
B N= 24 - 2 = 22 22 %
e [
BT L= 22 X 0. 250 = 5.500 5. 500 m
e L (Kg/m)
EI W= 22 X 3.500 X 12.9 = 0.993 0.993 ton
REMARIMET K R E L= 2.300 iézn (CFFefZEREs)
MEHE N= 2 = 9 9 Ive
e [
BT L= 2 X 0. 250 = 0.500 0. 500 m
e L (Kg/m)
EI W= 2 X 2.300 X 12.9 = 0.059 0. 059 ton
# L (Kg/m)
HEm-2f W= 22 X 3.500 X 12.9 = 0.993 0.993 ton
# L (Kg/m)
FRE R W= 2 X 1.200 X 12.9 = 0.031 0. 031 ton




No.1-1 -
T & - M H B A %) & H AL
AU Ty TEE | BEHRK
(VP ¢ 150) SRR "2 (Kg/m2) U
Wi= =/ 4 X( 0.267 + 0.100 ) X 51.60 X 1 = 0.005 0. 005 ton
SLHLJE B T
a7 Y—hT | V= 2.250 X 0.10 = 0. 225 m3
I I O S 2.250 X 0.15 = 0.338 m3
# B X R T
W R T e Hl H=  3.384 SR B N= 2
G UM o) W= 1.500
XIRIER L= 1.500 = 1.500 1. 500 m
Ei VRS H=  3.384 SR N= 2
G UML) W= 1.500
XIRIER L= 1.500 = 1.500 1. 500 m
T F - H G 2 L H {r
T
B A= 2.00 X 2.00 = 4. 000 m2
W= 400 X 0.18 = 0.720 t
% M1 H—200X200X8X 12
L= 2.16 X 2 = 4.32m
W= 4.32 X 0.050 = 0.216 t
i % H—200X200X8X 12
L= 2.16 X 2 = 4.32m
W= 4.32 X 0.050 = 0.216 t
I IR:o) [—200X80X7.5X11
L= 2.16 X 2 2.00 X 2 = 832m
j= 8.32 X 0.0246 = 0. 205 t




No. 1-1 —

(@vazie71= W) @R L)
1. 50
X 1.50 2.16 X 2.16 (B T)
v+ 99. 03 A JEE V+ 99. 030
AR . 0.250
0. 600
3.384 SEHUHRHE T 3.384 Ny 7Ry
2.534
SEYUFEE
0. 250
A+ 95. 646 A+ 95.646
T= 3.134 (m) SEHUIE
Ny JRT 3.384 (m)
77 Ly )b (m)
T f - W B B A B & H
AT T
t=b5cm
AREE LT T L= 2.16 X 2 2.16 X 2 = 8. 640 m
t=b5cm
ST T A= 2.16 X 2.16 = 4. 666 m2
t=5cm
Ry V= 4.666 X 0.05 = 0.233 m3
+ T
SBR[ A= 1.50 X 1.50 = 2.250 m2
WL om k| A= 2.16 X 2.16 = 4.666 m2
8 LRI T V= 4.666 x(  0.60 - 0.05 ) = 2. 566 m3
SEGUERHREI T V= 2.250 x(  3.384 - 0.60 ) = 6. 264 m3
i 8.83 m3




HArTv v —F(RC-30) A=

No. 1-1 — 4
T f& - 4 H B EM ¥ & AN IA
HEE L (i 1)
V= 2.250 X 2.894 - ( 2.250 X 0. 365 ) 5. 690
it 5. 69 m3
Y FLhkE V= 2.250X0.365-(0. 165X = +4X1.5) 0.789
7 0.79 m3
1500
750 | 750 _
of o7 99.03 788,01
ﬁ‘ il | i
e
E - Tr96.912
B =
ol s 95, 896
(8 B 95 6455, 612
“EEA R L—F 4
_ 750 1000
T f& - 4 H B X % & B L
IR T [GAAE
FET FHEERLE T 22 (13) A= 2.16 X 2.16 4. 67 m2
B AT LR (M-30) A= 4. 67 m2
4. 67 m2




IP.6 -

BEHXHREAML2, 500x1,500 (IP.6)
1. FE - 41 H B = ¥ & H Az
VAR N T s A = 2.500 X 1.500 = 3.750 (m2)
2 bt JE E L = 2 X (_2.500 + 1.500 ) = 8.000 (m)
+ B M OB i B AR (LSP— 1 7)) ¥EFZ 2, 500 X 1, 500mm
IS Y EE (1m¥Hh)
W= 12.9 = 12.9 (Kg/m)
BT 1m2¥4 v FHE
w= 51.6 = 51.6 (Kg/m2)
T F - 41 H B X B & H {7
+ B T R (LSP-1 %) EiJ% 2, 500X 1, 500mm
REMARAEAT | KR E L= 3.500 m "
L =]
AR N=__ 8.000 / 0.250 ) = 32 = 32 K
e 5 (2J843)
HFEAGE R L= 32 X 0.250 = 8.000 8. 000 m
e = (Kg/m)
E W= 32 X 3.500 X 12.9 = 1. 445 1. 445 ton
REMAERMET | KR E L= 3.500 iézn
B N= 32 - 2 = 30 30 %
e [
WEEE L= 30 X 0.250 = 7. 500 7. 500 m
e L (Kg/m)
i i W= 30 X 3.500 X 12.9 = 1. 355 1.355 ton
REMARIHET | KK E L= 2.200 iézn (T AR 2 ARES)
MEHE N= 2 = 2 2 ji'e
e [
BT L= 2 X 0.250 = 0. 500 0. 500 m
e L (Kg/m)
i i W= 2 X 2.200 X 12.9 = 0. 057 0. 057 ton
# L (Kg/m)
HEm-2f W= 30 X 3.500 X 12.9 = 1.355 1.355 ton
# L (Kg/m)
R W= 2 X 1.300 X 12.9 = 0.034 0. 034 ton




IP.6 -

T & - M H B A & H AL
AY Ty THEE 1 B AR
(VP ¢ 150) SRR "2 (Kg/m2) U
Wi= =/ 4 X( 0.267 4+ 0.100) X 51.60 X 1 = 0.005 0. 005 ton
SLHLJE B T
2y Y—hTL V= 3.750 X 0.10L = 0.375 m3
t
I L SR V= 3.750 X 0.15 = 0.563 m3
# B X R T
W R T e Hl H=  3.534 m SIREEK N= 2
G UM o) W= 1.500 m
XIRIER L= 1.500 = 1.500 1. 500 m
Ei VRS H=  3.534 m SZ{REE¥K N= 2
G UML) W= 2.500 m
XIRIER L= 2.500 = 2.500 2. 500 m
T F - H G 2 & H {r
T
B A= 2.00 X 3.00 = 6. 000 m2
W= 6.00 X  0.18 = 1. 080 t
% M1 H—200X200X8X 12
L= 3.16 X 2 =  6.32m
W= 6.32 X 0.050 = 0.316 t
i % H—200X200X8X 12
L= 2.16 X 2 =  4.32n
W= 4.32 X 0.050 = 0.216 t
I IR:o) [—200X80X7.5X11
L= 3.16 X 2 4+ 200 X 2 = 10.32m
W= 10.32 X 0.0246 = 0. 254 t




IP.6 -

(@71 W) (R L)
1. 50
X 2.50 2.16 X 3.16 (B T)
Y+ 98.93 A JEE Y+ 98. 930
SR 0. 250
0. 600
3.534 SEUHRHI T 3. 534 Ny 7Ry
2. 684
SEHUHASE
0. 250
A+ 95. 396 A+ 95.396
Y= 3.284 (m)SLHUE
Ny 7Ry H= 3.534 (m)
VA A= H= (m)
T f - W B A = B & H
AT T
t=b5cm
AL T L= 2.16 X 2 4+ 3.16 X 2 = 10. 640 m
t=b5cm
ST T A= 2.16 X 3.16 = 6.826 m2
t=5cm
FRBRLALSy V= 6.826 X 0.05 = 0.341 m3
+ T
~OHL R A= 1.50 X 2.50 = 3.750 m2
%L m R A= 2.16 X 3.16 = 6.826 m2
BRI T V= 6.826 x( 0.60 -  0.05 ) = 3. 754 m3
SEGUERHREI T V= 3.750 x(  3.534 -  0.60 ) = 11. 003 m3
i 14.76 m3




IP.6 -

T f - 4 H

B A & H {r
B L (i 1)
V= 3.750 X 3.338 - ( 3.750 X 0. 365 ) 11.149
a2t 11.15 m3
W FHEHfE
V= 3.750%0.365-(0. 165° X 7t +4 X 2. 5) 1.315
. 2500 ) i 1.32 m3
1500 | 1000
_1/98.95 798,93 o
g =
2
< . &
i1 -
g 795 646 v
1795396 _81 =2
ZEERA b L—F— B
1500
T fE - M A B = & & B fr
SR IR T AR
FIET BRI E 7 A= (13) A= 2.16 X 3.16 6.83 m2
L A T LA (M-30) A= 6.83 m2
TEEAE T BTy ¥ —F(RC-30) A= 6.83 m2




IP. 23 -

BEHEXREATI2, 500x1,500 (IP.23)
1. FE - 41 H B = ¥ & H L
VAR N T s A = 2.500 X 1. 500 = 3.750 (m2)
2 bt JE E L = 2 X ( 2.500 + 1.500 ) = 8.000 (m)
+ B M OB i B AR (LSP— 1 7)) ¥EFZ 2, 500 X 1, 500mm
IS Y EE (1m¥Hh)
W= 12.9 = 12.9 (Kg/m)
BT 1m2¥4 v FHE
W= 51.6 = 51.6 (Kg/m2)
T F - 41 H B Y % & EAR VA
+ 8 T B A AR (LSP— 1 71) FEJ% 2,500 X 1, 500mm
REMARAEAT | KR E L= 2.500 m -
L =t
AR N= 8.000 / 0.250 3 = 32 = 32
e [ (&%)
BEAGER L= 32 X 0.250 = 8.000 8. 000 m
e = (Kg/m)
E W= 32 X 2.500 X 12.9 = 1.032 1.032 ton
REMAERMET | KR E L= 2.500 iézn
B N= 32 - 2 = 30 30 e
£ [
WEEE L= 30 X 0. 250 3 = 7. 500 7.500 m
e L (Kg/m)
EI W= 30 X 2.500 X 12.9 = 0.968 0. 968 ton
REMARIHET | KK E L= 1.090 j&n (T AR 2 ARES)
MEHE N= 2 = 2 2 e
e [
BT L= 2 X 0. 250 = 0. 500 0. 500 m
e L (Kg/m)
EI W= 2 X 1.090 X 12.9 = 0.028 0.028 ton
# L (Kg/m)
HEm-2f W= 30 X 2.500 X 12.9 = 0.968 0. 968 ton
# L (Kg/m)
R W= 2 X 1.410 X 12.9 = 0.036 0. 036 ton




1P. 23 -

T & - M H A % & B
AY Ty THEE 1 B AR
(VP ¢ 150) SRR "2 (Kg/m2) r
Wi=  n/ 4 X( 0.267 +  0.100) X 51.60 X 0. 005 0. 005 ton
SLHLJE H T
2y Y—hTL V= 3.750 X 0.10L = 0.375 m3
t
I L SR V= 3.750 X 0.15 = 0.563 m3
# B X R T
W R T £ UIRES H=  2.424 m  SZ{REEK N= 2
o8 H R W= 1.500 m
XIRIER: L= 1.500 = 1.500 1. 500 m
f M P& H= 2,424 m  SURBHK N= 2
8 Bl B8 W= 2.500 m
XIRIER L= 2.500 = 2.500 2.500 m
I _fi - M H B M & H AL
i T
B A= 2.00 X 3.00 = 6. 000 m2
W= 6.00 X  0.18 = 1. 080 t
% M1 H—200X 200 X 8 X 12
L= 3.16 X 2 6.32 m
W= 6.32 X 0.050 = 0.316 t
i % H—200X 200 X 8 X 12
L= 2.16 X 2 4.32 m
W= 4.32 X 0.050 = 0.216 t
Tk [—200X80X7.5X11
L= 3.16 X 2 4+ 200 X 2 = 10.32m
W= 10.32 X 0.0246 = 0.254 t




IP. 23 -

(@vazie71= W) @R L)
1. 50
X 2.50 2.16 X 3.16 (B T)
Y+ 99. 45 FJEE /+ 99. 450
HHLEE ¢ 0. 250
0. 600
2. 424 SEUHRHI T 2. 424 Ny 7Ry
1.574
T STHULRE|
0. 250
A+ 97.026 A+ 97.026
Y= 2.174 (m) MHURE
Ny 7Ry H= 2.424 (m)
VA A= H= (m)
T f - W B B A B & H fir
AT T
t=b5cm
AREE LT T L= 2.16 X 2 4+ 3.16 X 2 = 10. 640 m
t=b5cm
ST T A= 2.16 X 3.16 = 6. 826 m2
t=5cm
FRBRLALSy V= 6.826 X 0.05 = 0.341 m3
+ T
~OHL R A= 1.50 X 2.50 = 3.750 m2
%L m R A= 2.16 X 3.16 = 6.826 m2
BRI T V= 6.826 x(  0.60 - 0.05 ) = 3. 754 m3
SEGUERHREI T V= 3.750 x(  2.424 - 0.60 ) = 6. 840 m3
7 10. 59 m3




IP. 23 - 4
T F - 4 H B 20 ¥ & L
HE L G L)
y= 3.750 X 1.841 - ( 3.750 X i ) 5. 535
it 5. 54 m3
Y FEHgE
V= 3.750X0. 365-(0. 165> X 7 <4 X 2. 5) 1.315
o 1 ﬁeﬁ B 1.32 m3
\?"ﬂ
_ 2500 .
1000 | 1500 |
79945 /20. 56
As
@
=]
g @ y 98. 542
o 8
g o
g 97.276 § 1
8 y ¥ 97. 242
- g97.026
SEER R L—F—
1500 1000
T fE - H ) Y ¥ & H AL
EHAEME IR T Al
FET FAEBRET A3 (13) A= 2.16 X 3.16 6.83 m2
B AT R (M=30) A= 6.83 m2
6.83 m2

HAr Ty v —F(RC-30) A=




1P. 24 -

BEMIMwEAL, 500%1,500 (IP.24)

T F - H B Y B & | B
VAR N T s A = 1.500 X 1.500 = 2.250 (m2)
2 bt JE E L = 2 X ( 1.500 + 1.500) = 6.000 (m)
+ B M OB i B AR (LSP— 1 7)) ¥EF 1,500 X 1, 500mm
A Y HEE (1m%7=Y)
W= 12.9 = 12.9 (Kg/m)
BT 1 m2Y V) FA
W= 51.6 = 51.6 (Kg/m2)
T fE - H B Y ¥ & | W
+ 8 T R (LSP-1 %) FEJ% 1, 500X 1, 500mm
REMARAEAT | KR E L= 2.500 m -
L =}
ALK N=_ 6.000 /  0.250 3 = 24 = 24
i [ (&JA%7)
BLAE L= 24 X 0.250 = 6.000 6. 000 m
i & (Kg/m)
& W= 24 X 2.500 X 12.9 = 0.774 0.774 ton
REMAERMET | KR E L= 2.500 iézn
B N= 24 - 2 = 22 22 %
e [
WEEE L= 22 X 0. 250 = 5. 500 5. 500 m
e L (Kg/m)
& W= 22 X 2.500 X 12.9 = 0.710 0.710 ton
REMARMET | R RE L= 1. 230 iézn Qi RN
HERE N= 2 _ = 9 9 Ive
e [
BT L= 2 X 0. 250 = 0. 500 0. 500 m
e L (Kg/m)
& W= 2 X 1.230 X 12.9 = 0.032 0.032 ton
e L (Kg/m)
HEm-2f W= 22 X 2.500 X 12.9 = 0.710 0.710 ton
\ I L (Kg/m)
R W= 2 X 1.270 X 12.9 = 0.033 0.033 ton




1P. 24 -

T & - M H A % B OH QL
AY Ty THEE 1 B AR
(VP ¢ 150) SRR "2 (Kg/m2) r
Wi= =/ 4 X( 0.267 +  0.100) X 51.60 X 1 0. 005 0. 005 ton
SLHLJE H T
2y Y—hTL \ 2.250 X 0.10L = 0. 225 m3
t
I L SR V= 2.250 X 0.15 = 0.338 m3
# B X R T
W R T £ UIRES H=  2.314 m SZ{REBHK N= 2
o8 H R W= 1.500 m
XIRIER: L= 1.500 = 1.500 1. 500 m
Ei VRS H=  2.314 m SZ{REE¥ N= 2
G UML) W= 1.500 m
XIRIER L= 1.500 = 1.500 1. 500 m
T F - H G 2 Ll A
i T
B A= 2.00 X 2.00 = 4. 000 m2
W= 400 X 0.18 = 0.720 t
% M1 H—200X200X8X 12
L= 2.16 X 2 4.32 m
W= 4.32 X 0.050 = 0.216 t
i % H—200X200X8X 12
L= 2.16 X 2 =  4.32nm
W= 4.32 X 0.050 = 0.216 t
Tk [—200X80X7.5X11
L= 2.16 X 2 4+ 2.00 X 2 =  832m
j= 8.32 X 0.0246 = 0. 205 t




1P. 24 -

SryTHmE T @R L)
1. 50
X 1. 50 2.16 X 2.16 (FBT)
V+ 99. 59 A JEE V+ 99. 590
LR 0,130
0. 600
2.314 SEUHRHI T 2.314 Ny TR
1. 464
T STHULRE|
0. 250
A+ 97.276 A+ 97.276
Y= 2.064 (m) HIIE
Ny 7Ry H=2.314 (m)
VA A= H= (m)
T f - W B A A ¥ B | W {7
AT T
t=b5cm
AL T L= 2.16 X 2 4+ 216 X 2 = 8. 640 m
t=b5cm
ST T A= 2.16 X 2.16 = 4. 666 m2
t=5cm
FRBRLALSy V= 4.666 X 0.03 = 0. 140 m3
+ T
~OHL R A= 1.50 X 1.50 = 2.250 m2
%L m R A= 2.16 X 2.16 = 4.666 m2
BRI T V= 4.666 x(  0.60 - 0.05 ) = 2.566 m3
SEGUERHREI T V= 2.250 x(  2.314 - 0.60 ) = 3. 857 m3
7 6.42 m3
ey 6. 42 m3




1P. 24 - 4

T F - 4 H B Y ¥ B W
HE L G L)
y= 2.250 X 1.902 - ( 2.250 X 0. 365 ) 3. 458
it 3. 46 m3
Y FEHgE
V= 2.250X0.365-(0.165° X 7 +4X1.5) 0. 789
F i 0.79 m3
1500
1000 | 500
99.65 _  <7ue.50
As _‘
3
- 2
542 L e = s
i =1 [=}
E o~
]
< o 1
1 BB 188 2
= 97. 526 '”F L
202 e Y 11 =
5
—EER hL—F—
1000 1000
T F - 41 H ) Y B & W7
0L IR
FET FAEBRET A3 (13) A= 2.16 X 2.16 4. 67 m2
TERAE T BT v—F(RC-30) A= 4.67 m2
4.67 m2

ZANE—E




M E X BEFIUR—ILTEZ)

I & B3 Tt # H X = By | & 2 H =
Eﬁ%@%fméﬂﬁ NEIERET MNEIEERTT R 1
REIBEAY R—IL#F e 1
®200x D150
TL—VIVREE D150 X 0.442
BIEF90° BE P 150 & 1
ATULAN UK 1& 3
EEZOH5— X 1
¢ 150

ERT FRLEEL m3 228
avol)—MERL m3 0.53

A \—hkarH)—+I
18-8-40BB m3 0.14
EJLBJILLEEYT t=2cm m2 2.02
AVN—rEBERT m2 0.71




BIER Vv h— LB AT

% W LB - B& i E K % 5
BRER MR IR I R
BIERET

EBRT

REIER< Y R—IL#F ©200x O 150
TL—UIURFEEVUOD 150
RIEA90° #E D150
ElE£E(VUD150/)

EWMFI(TS ©150)

FALTERL 7T /4% 15072 % 1.289

avHo)—MERL 7T /4% 15072 %0.30

A /\—hka>%')—kI18-8-40BB

7T/4%150°2%0.10 =
-7t /4%0.2072 % (1.50+0.75)/2 =

BRI
TT/4%15072

-0.20 % (1.50+0.75)
7T X 0.20 X (1.50+0.75)/2 =

AVN— AEBRT
7T %X 0.20 X (1.50+0.75)/2

0.177
-0.035

1.767
-0.450
0.707

1 &
1.77 m

1 &

3 &

2 &R

2.28 m3
0.53 m3

0.142 m3

2.024 m2

0.707 m2




XK B # A H £ B H F R

A RS 99. 030 A RS 99. 650
B EITiim 95. 612 No.1-1~1P. 6 B EITiim 97.242 IP23 ~1P24
C B—1.00m 94.612 C B—1.00m 96. 242
A—C 4.418 A—C 3. 408
G S) 4. 500 W FABr BENo. G 9] 3. 500 & FBr No.
i -Yv) Gl 99. 080 -0. 050 1 K -Jv) GL 99. 080 0.570 1
+ B TEE 2 & T B TEE 2 _&
SV b-#E[C] 0. 700 0. 650 3ILb-¥EE[C] 1.570 1.570
SV b-#E[C] 1. 150 1. 800 SV b-#EE[C 1. 150 2.720
SV b-#E[C] 0. 550 2. 350 SV b-#EE[C 0. 550 3.210
SV b-#E[C] 0. 450 2. 800 SV bk-#EE[C 0. 450 3. 720 0.220
SV b-#E[C] 0. 700 3. 500
SV b-#E[C] 1. 200 4.700 0. 200
Wt (G] 0. 000 LG 0. 000
wEL(S] 0. 000 BMEL[S] 0. 000
DILE-HE(C] 4. 500 DILE-HE[C] 3. 500
&t 4. 500 i 3. 500

HEN KEBAHFHE xlIs



4 = Hi = ==
I & AERIEHIT
£ h =1 = Bl % =
W=1. 00 x L=2. 00 x H1. 50 (A& F)
EEBRBHIEEERE

(1.00+2.00) x2.00x5 30.0

EHAE MR U B m
1.00x2.00x5 10.0

SRR T m2
10.00x 0. 05 0.5

TA77 0 pER A0 5y B m3
(10.0%x1.50)-0. 1 14.9

BEBAEEIT (V v949) m3
(10.0x1.50)-0. 1 14.9

BB ABRT m3
1.00x2.00%x5 10.0

=E (HEREE) m2

T =&




